Math 55 Quiz 7
October 12, 2016

This quiz will be graded out of 15 points; the True/False question is worth 3 points, and the exercie
is worth 12 points. Please read the instructions carefully

. . . ~ 3.4 'l .
True or False. Mark the following statements as cither true or false, or leave a blank if you dow t
know. A correct answer is worth +1 point, a blank is worth 0 points, and an imcorrect answer is
worth -1 points, so be smart about guessing!

a I-__ An extended binary tree is either the empty set, or any tree formed by conunecting
two previously constructed extended binary trees to a new root vertex.

b. __J[_—__ The following
f(0) =0, f(1) =2, fn)y=f(In/3] +1)xf(n—1),n=2

is a valid recursive definition.

C. .__J_ There are 60 one-to-one functions from a set with 3 elements to a set with 5 ele-
ments.

k

Exercise. Recall that the Fibonacci numbers f,, are defined by the recursive definition:
fo=0, fi=1, fa=fa1t+fanaforn>2

Prove that fi + f3+ -+ fan—1 = fo2a for any positive integer n.
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